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] B+ 4X50m 7 UV — U L — (1)
o Ff 4X100m 7 U — U L — ( 3)
5 F 4X100m 7 U — U L — ( 4)
o F 200m f@ AN A K L — ( 8)
5 + 200m & AN X F L — (10)
O 400 m H ] i ( 2)
B T 400 m H ] A ( 2)
T 50m N X 7 7 A ( 9)
% + 50m N ¥ 7 Z A (13)
T 200m N ¥ 7 7 A (1)
B 1 200m N X T F A ( 2)
O 50 m ¥ Tk =3 (11)
B 1 50 m 75 Pk & (12)
O 200 m ¥ Pk =3 (2)
B 1 200 m ¥ Pk =3 ( 2)
T F 200 m 17 & ( 2)
B 1 200 m °F vk =3 ( 2)
J & 4X50m A K L — U L — ( 2)
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O 400m fH AN A F L — (1)
% * 400m @ AN X K L — ( 1)
O 50m H H A (24)
B T 50m H i3] i (34)
T F 50 m vk =3 ( 9)
B 1 50 m Tk = (13)
T 200 m H H i ( 4)
B F 200 m H £5] i ( 6)
T 100 m 7% Pk =3 ( 4)
A 100 m 7% Pk =3 ( 6)
T F 100m X % 7 7 A ( 4)
5 + 100m X % 7 7 A ( 5)
O 100 m Pk & ( 4)
L o 100 m vk =3 (7)
O o 100 m H H i (10)
B 100 m H 1 i (14)
#  F 4X100m A F L — U L — ( 2)
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